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The intent of this problem is to have students make an estimate based on a benchmark measure that they are likely to know. The making of the estimate will require them to devise a concatenated strategy.





For example, to estimate the time it takes for your car's engine to make a billion revolutions you might make the following assumptions:


	car is driven 15000 miles per year


	average speed 30 miles per hour


	therefore car is driven 500 hours per year (on average)


	500 hours = 30000 minutes


	average rpm 2000 rpm


	revolutions per year 60,000,000


So your car would make one billion revolutions in about 16.7 years.
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